43614

&Roco—| Original ROCO-Ersatzteile
Original ROCO Replacement Parts

Art.-Nr. Text

Pos.

=+ | Nr,

86401 Zahnrad z 21r; m 0,4
Gear T21r, m0,4

Axle gear T 14r; m 0,4

3| 86701 Schnecke m 0,4
Wormm 0,4

4| 86403 | Zanhrad z 14r;m 0,4
Gear T 14r; m 0,4

5| 86404 | Zahnrad z 14/, m 0.4
Gear T 14:m 0,4

6| 86406 | Zahnrad 217, m 0.4
Gear T17;m0,4

7| 87012 | Kardanwelle
Cardan shaft

8| 87013 | Kardangelenk
Cardan bearing

9| 87014 | Kardanschale kurz
Cardan bearing short

10 | 87015 Kardanschale lang
Cardan bearing long

11| 95238 | Kupplungshalter
Coupling holder

12| 95239 | Klammer
Clamp

13| 95240 | Hauptrahmen
Main frame

14| 95241 Getriebeboden
Gears bottom

15| 95242 | Bigel 1 mit Rippe
Frame 1 with rib

16 | 95243 | Blgel 2
Frame 2

17 | 89807 | Radkontakt

18 | 90588 | Radsatz mit Haftring

19| 90589 | Radsatz
Wheelset

22 | 95246 | Getriebe kpl.
Gears assembly

23 | 86807 Schneckensatz
Worm set

24 | 95247 Lokboden kpl.
Loco bottom assembly

25| 95248 Zuristbeutel
Bag with accessories

26 | 85602 | Haftring
Traction tyre

27 | 40243 Standardkupplung
Standard coupling
Motor with flywheel

29| 85670 | Schraube M 2x4
Screw M 2x4

30 | 85675 | Schraube M 2x10
Screw M 2x10

31| 85678 | Schraube M 2x16
Screw M 2x16

Bag with accessories

2| 86415 | Achszahnrad z 14r; m 0,4

Wheel current contact strip

Wheelset with traction tyre

20 | 95244 Drehgesteliblende links kpl.
Bogle frame left assembly

21| 95245 | Drehgesteliblende rechts kpl.
Bogie frame right assembly

28 | B5067 | Motor mit Schwungmasse

32 | 95031 Zuristbeutel Schienenraumer

Preis-
ro | Gruppe

n

35

22

22

24

37

12

57

I 1

Ll

Blatt 287/2
Page 287/2



